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ll Semester B.Com. Examination, September/October 2021
(CBCS) (F + R) (2014 - 15 and Onwards)

COMMERCE
Paper - 2.3 : Advanced Financial Accounting

Time : 3 Hours Max. Marks : 70

lnstruction : Answer should be written completely in English or Kannada.

SECTION - A
aqnrl - o

1. Answer any five sub-questions. Each sub-question carries 2 marks. (5x2=10)

dddod clndtcnddo octr *d-4$eri w$o:,. $e erud-{d;i 2 eodri+b.

a) Goods are involved at a piotit al ZOP/. on sales. fnd cost price of goods
sent is { 1,50,000. Calculate the load to be included to the cost price of
goods sent.

nd#dddl dncno,l zJcio$ abeei 20% cnqJd dddO-dm&:rd. dr nd$ dq
T 1 ,SO,OOO e#, i#:rld dqd%dejo$O_ ieoda3eadd deoE a-,;gaod dod:Aaouo.

b) When is average clause applicable ?

olnaarl doado ddQ er{ouxb$d ?

c) Mention any four fQfltures of dependent branch.

erde-rog)d ma8oJ: oa or* od;addd1eex,.

d) What is Account Sales ?

er&otf deef . aodde& ?r.] , -

e) What do you mean by loaded price ?

da$do zJejob erdndd: udoo:o.
?.Jrr4

Write the meaninq of joint venture. i

xoeJ aroraa dd erdFddl udoom.
Calculate the actual amount of claim from the following details.
Stock on the date of fire accident
Value of goods salvaged
Expenses incurred for extinguishing fire

* Ednd adddeod e&oJ> rJot d{doood dodlaaos:o.

uJoE erdryadd addocb .adcnryd>

z3oso$:od d#d meed d&t
uSot o3rdl doodel drbOd dq

s)
t 65,000

T 6,500
T 2,000

t 65,000

{ 6,500

T 2,000
P.T.O.
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SECTION - B

Aqtod - s,l

Answer any three questions. Each carries 6 marks.

olndleoddo dlJocb d#ed w$ox,. ds ddf 6 eoddq;b.

(3x6=18)

2. A and B entered into joint venture having pfofit sharing ratio of 1 : 1. They
agreed to write books of a/c's under memorandum joint venture method.
A and B purchased goods for { 6,00,000 and { 4,50,000 respectivety and
sold the same for T 7,50,000 and t 5,25,000 respectively. Selling expenses
incurred by them were t 35,000 and t 25,000 respectively. Final settlement is
done by cheque. Show A,/c's of A and memorandum joint venture A,/c's in the
books of B.

A dqB xor"3olnAq,aaddndoOdro,q,, eEqJdld>ddldQl : 1 dodddxBn&ddr{ur
uod:-tcood. erddr didooaoddr ?sEou:or,tr dodb 6egob -addrld$ do:noioql'd.
A d:* B erd:$d>aaA t 6,00,000 abdJ { 4,50,000 dab dddc aDoeoir:@d. d>d)
er$$t:aan i7,5o,ooo rb* t 5,2do0o{ drgdddl#noer^l dnd>q"d erdd3
er$$d>aan dDad dnoat^l aDzS:r t 35,000 rb* t 25,000 ern$gd. mE deodQ
z3r droe;d md8td:ed. B dt{ddO_n ando$d1at t d:dooaoddr" ?srouor,tr
dozSo aad dojno:r. 

,

3. A fire occurred [n lhe premises of Goa Sports House on 30-9-2020. From the
following particulars ascertain the claim to be lodged. The last A/c of the Co.
were prepared on,31-1 2-2019

{

sales 25%.

Doood 30-9-2020 docb rtneaa do,eo,1r 6Er'd uddeadO_ ajo& dr{:Od:. dddod

addrleod adri dodpoSnoand dJdr edldod:&Gobo. dodpo$ drado$ anddddl
31 -12-201 9 doeb dCnojsaoor$.

t

Stock on 31 -12-2019
i

Sundry debtors on 31 -12-.2019
Sundry debtorq on 30-9-2020
Cash received from debtors 

I

Purchases frorn 1-1-2020 to 30-9-2020 t

me& 31-12-2019 docl>

"add uj:rddsb 31 -12-2019

"add uj:edddr 30-9- 2020
ubeddgod xgedo:,d dea

14-2A20 ood 30-9-2020d ddri $oea t

l:33,333
2,40,000

12,00,000
10,00,000, Rate of gross profit on

1,20,OOO

3,20,000
2,40,000

12,00,000

10,00,000, dnoauod ubee3 *^genqJd dd25o/o.
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4. Calculate the value of abnormal loss and value of closing stock from the
following information.
a) Goods sent on consignment 400 units of glassware at T 1O0/unit
b) Expenses incurred by the consignor t 2,000
c) Goods lost in transit 20 units
O Expenses incurred by the consignee taxes < 1,42O and selling expenses { 1,000
e) Goods sold by the consignee 340 units
f) Goods damaged at consignee's place 2o/o of the total goods consigned

(which is permissible).

d"q-ry dDejobod erddnd d{*t drqoJ, cnqod a*foorddldod>Aaosro.
a) dddodaoddnad5nadddildd 4oo drriddd$1 dsd,Bqr rbodoA
b) dd$ dmd dnadd& drourxrd dq{ 2,000
c) saddoJr dndr *dddO_ddcbdroed dddc 20 doddsb
d) dddr dddd& droulxrd dz*-dori T 1,420 d:Q dnmr^l dr^l_t 1,OOO

e) dddc dddd& rh*u XnBq*aAc 340 d[3ddib 
?r

D dddc dddd& erddeadO oa&rtodnod dddr r,o,urddtd daad dnad>odd abeeJ
2o/o ( sedn d, d{ ud*fou&d cb) .

5. X Ltd., invoices goods to its branch at cost. From the following particulars,
prepare Branch A/c from the year ended 31-3-2020 in the books of Head Office.

T
Branch stock on 1-412019
Branch stock on 31 -3-2020
Branch debtors on 1-4-2019
Branch debtors on 31-3-2020
Cost of goods sent to branch during the year 3,60,000
Sales at branch :

Cash I 1,8O,OO9
Credit : 

!

Cash received fro#'branch debtors during the year 3:?3;333
Branch expenses paid by H.O. 20,420

x otur^3ar do{os:d1ddmasri ddddiddzJeSo$o-daaoxbgd oinod 31 -9-2020

docb drq o$aarbd ddrd* deo{ dqf e oo1r> {t{ddO_ae5oJr eodolr$fdri drord&d
dDbeobod dobO:r.

66,000
78,000
42,000
59,600

t
66,000
78,000
42,000
59,600

ooaod 1-4-2019 dod; madcJl e;oxad>
ouood g1-g-2020 docb majo$ 

".fod,ooaod 1-4-2019 docb sasdoJ: utred'dc
ouood 31-3-2020 docb aado$ nbsdrlsb
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dd$ ddrde_uas3ri dd.:bruC ddsd d?d.
: a{aJ. !--. . .
<,rcrci-, \.,\.,1.., C1.)-)cl LJC gJ .

!,JJ.
Nl tL.L)
o^.laV |/ L\J \Jo

{i! ddrde)_eoa:oJ: uJ: rdrleci,h, edo,td dddr
*rcB, dgeocijcd mdso$ad DaJB$ dd,

I tfiilil tilt fifl ililI tilfl ilt tilt

3,60,000

1,90,000
2,93,600

2,76,000
20,420

6. State the basis of apportionrnent of the following expenses in departmental A/c's.
Discount received, rent, lighting, bad debts, canteen expenses, depreciation
on machinery.

ilzpanec: iodrirle_ €r ddnd $zd:rdd$ocDd er@ddo_ Deprledoioad.
idd doeB, ?f,Jarl, d*L3orf, ddeeDdeJ aao, of,:odrld d#dp, mrceJeaf $a3.:rdsl:.

SECTION _ C
Aqrort - tu

Answer any three questions. Each carries 14 marks.

alnd;cnddro $.ra& ddferi erugo,tr. gs ddf 14 erodddc.

(3x14=42)

7. X and Y undertook a joint venture for the construction of a school building.
X joint bank A/c was opened into which X and Y deposited t 3,00,000 and
{ 1,00,000 respectively. Profit sharing ratio is 3:2.
Other details :

Salaries t 33,bdo, wages { 1 ,90,000, building material purchased { 4,10,000,
material supplied by X t 36,000, material supplied by Y t 35,000, architect
fees { 28,000, iarriage inward t 44,000, machinery purchased t 90,000 on
the completion of construction. X took over unused materials of t 4O,OOO.
Y was paid a femuneration of t 30,000 for his services. Machinery was sold for
t 70,000. Contract price was { 10,60,000 which was duly received. Prepare
necessary LeUger A/c. 

l

X ** Y ao&i otrmd e"{odddldnatbod: t od: rou3 zarou" aado$dldddcb.
xo03 an mdd^t douad meJ dgdddlduild;oanQ. rrrou:ouf so,,ou" aadrl X rbQ
Y den { 3,00,000 ns* { 1,00,000 d:oard&. en?.J-d*deg 

' 
2 dod dozsdos;brEd.

"add addddo :

doudt 33,000, droOt 1 ,9O,OOO, EoodiddcT 4,10,000, X -'epdrnddddc{ 96,000,
Y {pdrrd nddo T 35,000, ugro3E.pe t 2g,000, r,dxaorl t 44,000, oJ:o$ $oeo
t 90,000. dqd {ndrxrd dodd erued dddc x r 4o,ooo deri driddoo* doerbqd.
Y d t 30,000dqsdd dedd depddclnfr dodenfld:gd. oJ:o$d$*t 70,000dd

cndgDoo)d:. dcnod edad a^g { 10,60,000 ddldod {ndr,ldocd ddo$enob$.
e dd, o dcd aa dddCl d oln o l.
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8. Madhu batteries of Bangalore consigned 1600 batteries costing { 5,000 each to
Raja electricals of Mysore. The Consignor paid { 1,05,000 as freight charges.
During transit it was found that 10 batteries were damaged. Consignee received
the balance of batteries and incurred { 14,900 as unloading charges. He sold
800 batteries at { 6,500 per unit for cash and 450 batteries on Cr. at T 7,000
per unit. He spent { 40,000 as godown rent { 6,600 as advertisement and
{ 30,000 as salesman salary. Consignee is entitled lo S"/"ordinary commission
on sales and 2/" del-credere commission on credit sales. Consignee does
final settlement by cheque payment.

Prepare consignment A/c, consignee A/c and Abnormal Loss A/c.

zJorldood dJdr ?radrio do{o3r qdrood oax, aeJfude*t 1600 zgooddd} de
?Dd[iOri { 5,000 dod dddc ned# dnooedo_ddcb:rd:. epdd: { 1,os,ooO sarl#
$z$r mdgr,d&. xaddoJ:O-10 zoro^lorid.: 6?qron&d)cb epobdJ. o'o?i ae3tde{

Tn 
d zro, r^to dddlddc t 1 4, 900 d:oe*iod $a3: r dn a dd:. edcb g 00 zm, r^lo te$o

da zort^lori t 6,500 d $rad ddori abdr 4s0 zarr^lodddl{a zcarr^lorl { 7,000

d-d mo{ cnod&. erdd: T 4o,oo0 wrgeod zmGrirBA t 6,60-0 edzodro*n
d:* t 30,000 ddldnoe,trodd iozovtgn mde,ld&. erdori xadrd dtudrr 5% dcd
dnot^:d djDe.rrd ai:eeJ ab* 2% dtudc roed dnmuid a3:eeJ a-er gao" dtudo"
ddd)d dsd. u$oa Dejsude{ddd; erued deoddldd droe;d mde:,ddr.
do"4,an*or,f ayod, dffiee and abd: u;odnd, d{ando$dldoJnoa.

9. Determine the amount of claim to be lodged by M/S Netra company to lnsurance
Company trom the following details :

The company had ta,ken a fire insurance policy for { 1,20,000, covering its
stock arid the policy was subjected to average clause.

Sales $,

Purchases
Wages and salaries ;

Sales returns
Purchase returns
Carriage inwards
Date of fire 15-3-2020
Stock on 1-10-2018 { 1 ,21,TOO
Stock on 30-9-2019 t 1,89,OOO

Stock salvaged { 1g,g1O

1-10-18

1 30-e-201e(T)
11,43,000
7,99,500
1,37,400

54,500
7,400

27,400

1-10-19
15-3-2020({)

6,90,500
3,94,000

69,900
15,900
9,600
9,600

Stocks have been valued at10o/o less than cost.
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1-10-18 ood
30-e-201e({)

11,43,000

7,89,500

1,37,400

54,500

27,400

27,400

1-10-19ood
15-3-2020({)

6,90,500

3,94,000

68,900

15,800

9,600

9,600

oaq$rlddldqdeihod 10% dd*da& deioJ5O- dfoe;, dndernd.

10. X Co. Ltd. of Delhi has a branch at Chennai. Goods are sent to branch at

a profit of 2O/" on invoice price. All the expenses are paid by H.O. Prepare

branch A/c in H.Or books showing the stocks at invoice price.

Opening balance 
r

Stock (lP) T 11,00b, Petty cash - { 100, Dpbtors - ?

Goods sent to brgnch at lP T 20,000 '

Expenses paid by H.O.

Rent { 600, Wages { 200, Salary t 900.

Remittances made by the H.O.

Cash sales T 2,650, Collections from debtors { 21,000, Goods returned by

branch to H.O. (lP) { 300, Credit Sales { 22,800.

Balance at the end :

Stock (lP) { 13,OOO, Debtors { 2,000, Petty cash t 60, Bad debts T 300,

Allowances to customers t 500, Goods returned by customers T 700.

* ddnd addrleod &. de$ do{orr edD dodori do;ddead edD dtd dragddl

dod>aaouo.

io{o$ m4ed d#ri"*{d tSoE adD anoxod:d1{ 1,20,000 dddri*dooaC dl{
€r aaelroJ> ioado de,rard uddt^1d.

dncnt,l

eDoeO

*ao ** dedd

dncno^l bo9drnncbdtd>

aDoeo boe&ntu&dcb

bd sorisdd

do8 epoadrd doqjand ad 15-3-2020

6ood 1-10-2018 do& cDBs T 1 ,28,700

6oaod 30-9-2019 dod> mB$ { 1 ,89,000

doEooroai dtad msad: T 19.310sJt [:r,
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dofj, deoqi dq3eoo]> dd aaajo$&, ?sd,do-dnood. uaajri dddr dnoao; zJejobo2::!: e>tpoddg-, 
"edri*tQ.5. #soi: Dero- aDa$rdddl deo{ dqieoob[

qo$d+ 
"*5og 

itfeoir d{drtdo_ zs{o aaio:iandor:q j,ir"or,'*r{j dJd)
d>oaud deioJrO doeox,.

udorpd d>ei*rid: : 
-

dddc (lP) T 1 1 ,OOO, do_d dea - { 100, io0ridl - ?
#eoqi dgeooood dqba:rd dddc tp T 2o,o0o
maJoJ: aDz$rderi deogi dqleoourod deo
eaarl { 600, doO T 200, ioud { 9OO.

maiodr deo{ defeorl dsbb:rd dsa.

ddcb dnooulood T 2,650, ilbrddeod dddcb^< 21,000, deogi dqJeori -ohFnddo (lP) t 300, na"e-:d dnooot t 22,g00. o

ero8d) gel,dsb 
:

JU

iddr (lP) t 13,OOO, D$sdd$b { 2,000, zse.:_d dsa { 60,
aadqS'id dea T 300, rgddori doeod ddd < 500, rgddood aadxa.d dddc T 7oo.

11. From the following balances extracted from Vikram Stores, prepare
departmental trading and PIL Nc in the columnar from for the year ended
31-3-2020.
Particulars Dr. Cr.
Stock 1-4-19 gt ,

Dept. - t 1,20,000
Dept. - ll ,: 90,OOO

-7-

Purchases and sales
Dept. - I

Dept. - ll
Carriage inwards : i

Dept. - I ,'

Dept. - ll t1

Machinery
Salaries ,

Rent /

Repairs to machinery
Drs. and Crs.
Capital
Cash in hand
B/R and B/P
Drawings
Buildings

1,60,000 3,00,000
1,40,000 2,90,000

i 4,000
2,000

36,000
60,000
12,000
30,000, 45,000 60,000

1,60,000
12,000
15,000
20,000
f? r?c

6,000

.J

8,06,000 9,06,000
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Adjustments
a) Stock on 31-3-20 Dept. - I t 1,40,000, Dept. - ll t 1,20,000
b) Salaries to be divided in the ratio of 7 : 3
c) Value of machinery Dept. - lT 20,000, Dept. - ll t 16,000.
d) Depreciate machinery at 10% p.a. and buildings at 5o/o p.?,.

e) Area occupied in the building 3:2by Dept. - I and Dept. - ll

agdf
UJC^J( Ud

Iffililtlilllilililililttiltfft

respectively.

tu*e{, cJdd*od es dddcd Ddddddl ddc:ennd. 31-3-2020 dir
d:iod r)qrRec$ tJeccrr S* *rJ-dimdo::d: dcfno:,.

^, -)'l-J"l-c^JcJlJI l\AJ

1-4-19 idd.:ddc
aqnrl - I

az;nri - ll

s)oeo ** d>oot;
azporl - I

azpd- ll
o ol 

-nz? 
alo]r- '(!Y 

^Jer\rl 
I dJA)Ja .

aeparl - I

aqnd - ll

o;:odgeddora
J^..o1
^JUCr"'\/ I

^* a.9,C^Jdue( 
)

oJ:eflgeiddm oieo
Nisrl$b a:Q dcdd9:
".^i:o](rUU9c^Je\,'

..9 ^*..qJ JJJ.
ueJLu-vJ! Ni )LJU

d>oBrld;
o ^JJJoJoc"J(,99
J..JJ^J.uei(,9/\YJ-)

90,000

1,60,000 3,00,000
1,40,000 2,80,000

4,000
2,000

36,000
60,000' 12,000
30,000
45,000 60,000

1,60,000

c$rJ
dJa.

1,20,000

6ei

12,000
15,000 6,000
20,000
60,000

8,06,000 8,06,000
edd dJroEog:

a) 31-3-2020 dod>nddreqnrl- lT 1,40,000; aqrDd- ll t 1,20,000.

b) 7 : 3 d erd:mddo-doudddlapnedodaJedc.
c) o$o$rld dPe,r, a?oDii- I { 20,000, drQ a?pd- ll < 16,000.

d) olro$rlddlaaard de. 10 dod ab& dqdddlaa&rd de. 5 dod idde dnao.
e) dgddO_ apDri- I *Q apd- ll 3 : 2 ddorrodddlu$tu&d.


